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Missing Numbers 

8            

  

 +              =  19  17 -                 =  3 

5            

  

 +              =  10  10 -                 =  6 

14        

      

 +              =  18  16 -                 =  9 

10        

      

 +              =  14  19 -                 =  11 

4          

    

 +              =  20  14 -                =  10 

17         +              =  18  20 -                 =  4 

Missing number in the middle? 

Do a subtraction, and solve the riddle. 

64 - ______ = 24                     32 + ________ = 50 

64 - 24 = _______                    50 -32 = _________ 

.
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Missing Numbers 

44        

      

 +              =  79  57 -               =  20 

22        

      

 +              =  46  78 -               =  32 

65        

      

 +              =  80  39 -               =  10 

11        

      

 +              =  58  63 -               =  14 

30        

      

 +              =  64  89 -               =  47 

50         +              =  90  92 -               =  54 

Missing number in the middle? 

Do a subtraction, and solve the riddle. 

64 - ______ = 24                     32 + ________ = 50 

64 - 24 = _______                    50 -32 = _________ 

.


